VI-270 58 15 9
1.
2. 1
1 1im’
«C )
qu=200kN/m?
1.2 505.3 168.4 4495 62 2285
(
2.65) ( 263) 75 25
° 7
20 Se
( : W
20 QVV\ 1 1 —T | |
P P 1P
9mI Zlml 25mI 41m | 8m
12 104m
1
$38mm 104m
650mm  ¢75mm  $100mm
8m 9m
Py 30m(P,) 55m (Ps)
35/min o( ),25 50 75 100 150 200NI/min
7
3
6
3.
P, 2
101-8632 1-7-8

-539-




VI-270 58 15 9

25NI/min

< 1000
o
Py < 800
- g
50NI/min a 600
o
S 400 "“~=-._.L______~.
8 200
. o
25NI/min < 0
0 50 100 150 200 250
Air Flow Rate (NI/min)
2 P
3
11
( )
3 1
zi 0.9
<Y \———0/‘\./‘
0.8
0.7
1.2 *\
1.1 \
T 1 \\ /\
0.9 V \//'
0.8 ‘
1
2
= 0.8
Py
0.6 /.\\/
04 ‘ ‘
0 50 100 150 200 250
Air Flow Rate (NI/min)
4.

100m

-540-



